1/0d/ d N dp™" [1GeV]

Ratio to ATLAS

[HEN
o
R

T

|
o
2

—
<
i

0.5

13000 GeV pp
I I I |

tt
| I I I | I I I | I I I | 9
L — <
- ptPa" (ATLAS semileptonic ttbar) =
— T iy
- b=
O
B o
L 1N
S
—
— .._m _] ™
- TR 12
o N |
— .l:\ JE—
— Y = [%)
— g, o
- L. <
- m)
B . s
RS ™
- N —
m ATLAS 2
__ --8- Pythia 6.428 391 — s
— - - Pythia 6.428 393 35
— --e-- Pythia6.428 394 -8 <
- - v~ Pythia 6.428 395 8
)
B e
o
(&)
S S S S ST =
— =2
: E-_:_'.-_',’_‘.'—B:'_;-:-:. ... :
3 \\\;ii-----__g 1
| —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
0 200 400 600 800



	Contents
	Page 1


